
Daily-mcqs 20 Feb 2023

Current Affairs MCQs for UPSC & State PSC Exams (21 February 2023) 20 Feb 2023

Current Affairs MCQs for UPSC & State PSC Exams (21 February 2023)

Current Affairs MCQs Quiz for UPSC, IAS, UPPSC/UPPCS, MPPSC. BPSC, RPSC & All State PSC Exams

Date: 21 February 2023

Q1. Which of the following has/have the potential to limit global warming with solar

geoengineering?
1. Aerosol injection

2. Marine cloud brightening

3. High-albedo crops and buildings

4. Ocean mirror

5. Cloud thinning

6. Space sunshades

Which of the following option(s) is/are correct?

a) 1,2 ,5 and 6 only

b) 1,3,4 and 5 only

c) 1,2,4 and 5 only

d) 1,2,3,4,5 and 6

+ Show

Answer

Q2. Consider the following Statements regarding the ‘Tree City of the World’.

1. It is managed by the Food & Agriculture Organization of the United Nations (UN-FAO) and Arbor Day

Foundation.

2. The municipalities of any size can apply to be recognised as 'Tree City of the World'.

3. The UN-FAO tag was awarded to Mumbai for the second consecutive year and Hyderabad received it for

the first time.Select the correct Statement(s) using the code given below.
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a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

d) 1, 2 and 3

+ Show

Answer

Q3. Consider the following statements:

1. Wheat is a kharif crop grown between September and December.

2. The best wheat is produced in areas favoured with cool, moist weather.

3. Areas with a warm and damp climate are not suited for wheat growing.

Which of the statement/s given above is/are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) All of the above

+ Show

Answer

Q4. Which of the following disqualifies a person to become a Member of Parliament under the

Representation of the People Act, 1951?

a) Conviction of an offense and sentence to imprisonment for not less than two years.

b) Not being qualified to be chosen as a member of Parliament under any law made by Parliament.

c) Being of unsound mind and stands so declared by a competent court.

d) All of the above.

+ Show

Answer

Q5. Which of the following pair is matched correctly?

1. Karnataka’s Mattur village - Residents speak only in Sanskrit.

2. Telangana’s Pochampalli village - Showcases its traditional weaving techniques.

3. Bishnoi village in Rajasthan – Frequent visits by the endangered Great Indian Bustard.

Choose the correct option:

a) 1 only

b) 2 and 3 Only

c) 1 and 3 Only

d) All of the above

+ Show

Answer
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